y7r?

@_

_9_
= =
Eq S ™ 7H 7]—

7h



Mz 2t 2 N e,

b




3. 279 4B AL SRE AR oA,



2 48 A HEoAe.

3215 —)3X1—D
32 o H) o¥/\—>3x2—D
[]

3238 g4 53x3=




& %302 o] WolAk £8 B AN (F,
Aol 224 2.)

ZF
A}

rlo

10, 57, 84, 55, 980




FHE 5 A HAL,



7} ek of= o] Aol e Ae B A=A L.

@ (18, 3) ® (16, 30)
® (9, 72)



8.

ohEoll A
2,

@ (14, 28)
@ (11, 110)

Z7t A= 5o} oko]

@ (5, 51)
® (12, 108)

o}






o] 21o = o A M}\]
T= T o, 13 _]' ] = X
1 L= ] (1:]-, }O _/;:_'_513
:rLg,].A Q. Z
== E EH
]|. 1:
© )
Q
10. )

© 80
@ 56




11, o 5 49 HjFersg oA,

24, 60




12.

849} o 49| 2| gok47) 12247 €

EE EAIRET)

B e 7



13. 129}189] FtjZok
122} 18 9] FoFrE

2 ol gste] T 50| BoR4E Foteln gt
AL, (5, 28 42 Az A0.)

=
a=
YEE



14. the [ ool g 52 e 4R E AetE HEoAe.

69 Mz H, 99 M He S [ [ -
.




15. A.B T 52 that o] thehpglg e,
H AT FoHA0. (R, A2 242.)

A=2x2x3x5x%x5
B=2x3x5x5x7
Zehgots [ Hagms [




&5 P L.

Gl

12=2x%x2x%x3
18=2x%x3x%x3




17. [ boll Qure Wolt £8 Atz AEoAe.

(1) 5 40] Bl 5 20 [ o] jel 2
(2) 122} 309 T4+ DE’J | Z=9} Zr5 ),

B
2
Be

”



18. the St a o e queh [ Jbe] ke 2740 g 7oA
2.

975 |




)
oS

2 7YX 7}

7}A]

Ct
=



ol AU

of A%t 7

E
2

? 12 B 24 @ 25 B 2

@D 10






22. of® % 50| H2Fu57}6 A 1), o] F 50| Fulg

5 7l F+stofet,

D EE



23.

o]

7V2, M27} 242} 24cm, 36cm Q]
o] o1 FebH Wi 2ol glol

s el 3 gt g wo Lol2 ¥

ge om



S

o]
B B

[ny ..
85 un

N
foirof

<
N



dg 12 A7 ¥

25.

14 A

20

® o g A=ol T



